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Booklet A (52 x 2 marks)
For each question from 1 to 25, four options are given. One of them is the correct answer.

When threatenad, the hedgehog curls fself up into a ball, making it difficult for
predatoss to eat it

Thig shows that the hedgehog is a living thing because it :

A) grows
B) reproduces
C) needs air, food and water

v’ D) respond to changes in its surroundings

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 1st Dec 2020
Last Modified: N/A

QID#: 25,155,786

https://www.classmarker.com/a/tests/test/?test_id=1602060&trk=edittest_inrow_edit 1/45


https://www.classmarker.com/a/
https://www.classmarker.com/a/assign/groups/?test_id=1602060&trk=assign_edittest
https://www.classmarker.com/a/tests/
https://www.classmarker.com/a/tests/#tests
https://www.classmarker.com/a/tests/#groups
https://www.classmarker.com/a/tests/#links
https://0cm.classmarker.com/6226088_K2L8LD3I.png

8/6/2021 ClassMarker - Manage Test

Question 2 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Study the diagram below carefully.

Start

What could P be?

A) bird

v B) insect

C) mammal

D) amphibian
Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,155,794

Question 3 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Joanne made the following observations on the life cycle of an animal.
- There are four stages in the life cycle
- Some stages of the life cycle occur in water

What animal was Joanne observing?

A) frog
B) beetle
v" C) mosquito

D) cockroach

Question Type: Multiple Choice
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Randomize Answers: No

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,155,810
Question 4 Primary 4 Science » Primary 4 Science (Term 4)

Tha diagram below shows four stages of the growlh of a young plant in the
incormect order. Arrange the stages in the comect ordar.

A B c D
] {2
/-$ A c \
D C B B
3) _ | -
TN | 7™
D B c D
kﬁ. ../ . kﬂ ‘_/
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
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Last Modified: N/A
QID#: 25,155,815

https://www.classmarker.com/a/tests/test/?test_id=1602060&trk=edittest_inrow_edit

2 pts

3/45


https://www.classmarker.com/a/tests/qb/manage/?test_id=1602060&question_id=25155810
https://www.classmarker.com/a/tests/qb/manage/?test_id=1602060&question_id=25155810&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1602060
https://0cm.classmarker.com/6226088_QOMN066A.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1602060&question_id=25155815
https://www.classmarker.com/a/tests/qb/manage/?test_id=1602060&question_id=25155815&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1602060

8/6/2021 ClassMarker - Manage Test

Question 5 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
VWhich one of fhe following shows the cormect sequence when food moves
through some parta of the digestive system?

— —_—
i1
Smad intesfine
= e
2
Large intestine
—
(&
Emall inbesting
—
()
Siomach
A) 1
v B) 2

C) 3

D) 4

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 1st Dec 2020

Last Modified: N/A
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Which of the following objects is made of waterproof malerial?

{1) Cofton T-shin {2) Newspaper

(3} Swimming suil 4) Rubber bocts
- - -
A) 1
B) 2
C) 3
v' D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,155,839
Qu estion 7 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Matter is anything that has mass and occupies space.

Which of the following is not matter?

A) oil
B) air
C) sand
v' D) shadow
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,155,849
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Question 8 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which one of the following is a source of light?

{1} eyes ;

w

-

(3) candle
-
A) 1
B) 2
C) 3
v' D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,155,864
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Sili cooked a pot of chicken soup in the pot shown below.

Shie was able fo remove e lid of pot using the wooden handile. This |2 because
wood s 3 .

A) light material
B) flexible material
v C) poor conductor of heat

D) good conductor of heat

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,155,874
Question 10 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

An cbject P was atiracied io a magnet, as shown in the figure below,

magnet i

bject P

Object P is made of
v' A) iron

B) wood
C) plastic
D) rubber

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 1st Dec 2020
Last Modified: N/A

QID#: 25,155,884
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Question 11 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

The disgrarms below show the ife cycles of a chilll plant and a chicken.

Seed | Egg .
]/_’ Q) ~, Process X /’ O "~ Procesa Y

b
g
5
o
8
S
£

Which one of the lollowing stalements best describes the .:_dmutm;. fhal &
reguired during process X and process Y7

v" A) warmth must be present in both processes
B) sunlight must be present in both processes
C) both processes only takes place in the night

D) both processes require the presence of the adults

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,155,900
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Study the fowshart below,

ClassMarker - Manage Test

Amalia identifies Animals X and ¥ as shown in the table below,

Animal X

Animal

i1
@)
3
@

v A) 1
B) 2
c) 3
D) 4

What ars questions A and B ikely io ba?

!ltmli_nnl. CGuestion B :
Doss it have a three-stage Iife cycle? | Does the young resembile (ks aduR?
Does the young resambie its adult? | Does the young Eve on land?
| Does it have a four-stage ffe cycle? | Does A have a three-stage life cycla?
Does the young fve on land? Does it have a four-stage e cycle? |

Question Type:
Randomize Answers: No

Multiple Choice

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,155,905
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James wanled to conduct an experiment fo find out f different amounts of
dlgetmiuhﬂwwbdﬂhﬁﬂnr?mﬂldwunnfnmdm

He prepared the following set-ups for the axpanimant.

Volume of Typa of Mass of Duration of
Set-up digestive fles cooked experimant
juices (mil}) nocdlas (g) (minutes)
A ] rice 20 20
B 5 fice 40 20
L 10 fice 20 20
i) 10 wheat 40 15

conducted®

A) AandB
v B) AandC
C) BandC
D) BandD

Question Type:

Which of these set-ups should Jemes use o ensure a fair lest has been

Muiltiple Choice

Randomize Answers: No

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,155,960
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The diagram shows a plant,
Parts A, B, C and D show the diffierent parts of the plant

Which of the following matches the correct part of the plant to its function?

Part | Mamae of part Function r
n| A Fl oser T make focd
()| B Fruit Tio absorh sunlight
e To transpart water from the roots to the olher
@] c Glom parts of tha plant
To Iranspon food from the roots 1o the other paris
910 | How of the plant
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,155,969
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Plant P grew ascund a pode while Plant O grew around @ ree trunk.

Plant &

Which of the following is comect?

A)
B)
v C)

D)

Both plants are non-flowering plants
Plant p has a strong stem but plant Q has a weak stem
Both plants need a support to grow towards the sunlight

Plant P can make its own food as it has flowers but not plant Q

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 1st Dec 2020
Last Modified: N/A

QID#: 25,155,989
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The dingram below shows a tightly sealed 1000-cm? container.

The container was Initially filled with 200 cm? of liquid X and 50 erm® of solid Y,
The rest of the contalner was filled with gas Z.

—— gl L

— 200 om® of Hquid X

S e I
Conlaner

B cm? of llquid X was removed.

Which of the following statements about the volume of matier in the container

are frua?
A The volume of gas Z was 750 cm? at first.
B The final volume of gas Z was 850 cm? in the end,
. The firal volume of gas Z was B00 cm® in the end
O The final volume of iquid X was 100 em? in the end.

v A) AandC
B) AandD
C) BandC
D) BandD
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,155,997
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B\
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Objects A and B were placed on a balance as shown below,

B)

503

Dbjects A and B were then placed in identical containers containing the same
armount af water.

(&)~

Based on the obsansalions above, which of the following statement is irue?

Question Type:
Randomize Answers: No

Muiltiple Choice

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,003

Question 18

Wodurrma Mass
{1} | Object A has a larger volume than | Object A has a larger mass than
object B, object B,
{2} | Object A has a larger volume than | Object A has the same mass a8
object B. object B.
{3} | Object A has a largar voluma than | Object A hae a smaller mass than
s objectB. object B.
i) Object A has a smaller volume | Object A has a grealer mass than
fhan obpect B, object B,
A) 1
B) 2
v C) 3
D) 4

Primary 4 Science » Primary 4 Science (Term 4)
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Cynithia could see her pet dog when she slood behind the giass a8 shown in the
disgram bedow.

) —I |

Fols
glass
Winch one of the following explains why Cynthia could see her pet dog™ -

A) The glass reflected light from the dog into Cynthia's eyes
B) The glass reflected light from the lamp into Cynthia's eyes
v C) The pet dog reflected light from the lamp through the glass into Cynthia's eyes

D) The pet dog gave off light and the light entered Cynthia's eyes through the glass

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,156,025
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Azahar set wp a ight source and a light sensor to count the nember of balls going
through a hole g shown,

||grnmm——g

Iﬂa"rllﬂ'll-'l)-lI
connected toa
datalogger ———— wall

He threw a fow identical balls ome at a time and fecorded S msults

Which one of the following graphs shows the amaunt of Bght recorded by the
light sensor a he threw the ball?

(1) (2
Amount of light (unis} Amaurt of light {units)
100
i} ~
e
(2 4 *
Ainacsanit of fght (urike). Amount of fight (units)
100 o 100

o - 1]
e fime
v A) 1

B) 2
C) 3
D) 4

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,156,031
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Matiida studled the shadows formed by twe identical cones. The cones were
placad at difarant positions under identical ight sources ina dark room.

& &*-

LN

Yy <p
[/ [/

paper A

Wihich ane of the folowing ehadows would be obsarsed an aach piece of 1he
[l pir 7

Papor A Papar B

-

(2

@

<
&
4

(4

A) 1
B) 2
C) 3
v' D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 1st Dec 2020
Last Modified: N/A
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Samaniha placed a melal spoon i & cup of e cream

The spoon became colder after a while

Which one of the following axplains this?

A) The cup lost heat to the ice cream
B) The ice cream lost heat to the spoon
¥" C) The spoon lost heat to the ice cream

D) The spoon gained heat from the ice cream

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,156,077
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the water is still in

liquid state.
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Kate placed oma waler in a beaker al room temperature over & bunsen burner.
Mnrmrrﬂm, the waber stared bo bod. She loft the water bolling In the
beaker for 10 minutes, She removed e beaker imwnediately ard left il in the
fraazor jor another 20 minules. Al the end of tha experiment, she noticad that

Which one of the foliowing graphs comectly shows lhe resulls of Kale's

experment?
" Temperatune ("G
r
-1&&-__.........-- .............. T...-u-"- T i
7y 8 SEEESERTEREY . r . s -'
: f
o - Tirne (min)
N i 10 0 30
(2)

i)

v' D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 23

Multiple Choice
No

Tue 1st Dec 2020
N/A

25,156,085
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Danial prepared a sel-up o invesfigate the effect of beat en the wolume of air in
the flask as seen below.

— dalary tubsa
sloppar
iy 1 Ml Biesk
coloured | = I T sk
waler i -

)

(2}

]

A) 1
B) 2
c) 3
v' D) 4

Which one of the following cormectly describes the observation of the expenment
and the explanation for the ohesration?

Observation

Explanation ]

Coloured water was deawn inbo thi
dellvery tube, |

—

Hoai causes a decreasE n the
vodumea of alr,

Colourad water was drawn into fhe
dalivery tuba. :

Heal causes an ncreass n the
volume of gir,

Formation of bubbles observed in
thir coloured watar

Heal causes a decreass in the
volume ol a6

Foarmafion of bubbles obeemved in
the coloured waler.

Question Type:
Randomize Answers: No

Heal casses an increase in the
wolurme of air

Multiple Choice

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,094
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Annika labelled the different parts of a bar magnet, A, B and C as shown in the
diagram below. She brought the bar magnet close to a tray of iron nads as shown

in the diagram below
: A _ B ‘c
! 3 iﬂ EE 59 EEi‘nﬂmmll
tray of iron nalls

Which of tha following would most likely ehow tha number of iron nais that would
be aftracted to parts A, B and C of the magnat?

(1)
(2)
3
(4}

o |mlw|p |
wlem | |m|a

m | == |

A) 1
B) 2
v C) 3

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 1st Dec 2020
Last Modified: N/A

QID#: 25,156,100

Qu estion 25 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

https://www.classmarker.com/a/tests/test/?test_id=1602060&trk=edittest_inrow_edit 21/45


https://0cm.classmarker.com/6226088_6FSQTRP4.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1602060&question_id=25156100
https://www.classmarker.com/a/tests/qb/manage/?test_id=1602060&question_id=25156100&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1602060

8/6/2021

ClassMarker - Manage Test

The diagram below shows the door bell system. When the switch |s closed, the
U-shaped core will be magnatized and become muhdmmm} attracting the
plate with the hammer, hitting the gong.

U-shaped cofg

What of the following materials should be used to make the i-shaped core and

Question Type:
Randomize Answers:

Question 26

Booklet B

Muiltiple Choice
No

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,104

plate? .
U-shaped core Plate
{1} Aluminium Iroan
[2) Iron E!!&H
{3 e  Steed Copper |
() Copper kron
A) 1
v B) 2
c) 3
D) 4

Primary 4 Science » Primary 4 Science (Term 4)

This section is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.
Grading: This question type is not graded on this system and will not affect the final score as it
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was designed in such a way that it requires manual assistance.

The diagram below shows the human digestive system.

2
3
? 4
Based on the diagram above, identify the part where
(a) digestion is complated:
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,115
Question 27 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Water is removed from the undigested food:
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A) 1

B) 2

C) 3

v' D) 4

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 1st Dec 2020

Last Modified: N/A
QID#: 25,156,120

Question 28 Primary 4 Science » Primary 4 Science (Term 4)
The diagram shows plant Y. :

(a) Name plant part X.

Accepted answers:

v leaves

Question Type: Free Text

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,156,183

Qu estion 29 Primary 4 Science » Primary 4 Science (Term 4)

The substance that the stem of the plant transports from plant part X to other parts of the plant is

https://www.classmarker.com/a/tests/test/?test_id=1602060&trk=edittest_inrow_edit
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Accepted answers:

v food

Question Type: Free Text

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,156,188

Question 30 Primary 4 Science » Primary 4 Science (Term 4)

Xiudi laft three set-ups of plant Y near a window in her kitfchen as shown, She
then recorded the water lavel, H after 2 days.

Xiuli
wanted to find out if the amount of roots of a plant affects the amount of water taken in. Which set-ups
should Xiuli use to carry out a fair test to investigate her aim? Explain your answer clearly.

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,213

Correctly answered feedback
Set-up Q and R should be used to carry out a fair test because the amount of water, number of
leaves and presence of oil are kept constant in both set-ups to ensure a fair test

Incorrectly answered feedback
Set-up Q and R should be used to carry out a fair test because the amount of water, number of
leaves and presence of oil are kept constant in both set-ups to ensure a fair test

Primary 4 Science » Primary 4 Science (Term 4)

Question 31

Which of the three set-ups will have the lowest water level H recorded after 2 days? Explain your
answer clearly.

Question Type: Essay
Date Added: Tue 1st Dec 2020
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Last Modified: N/A
QID#: 25,156,230

Correctly answered feedback
P. It makes more food than Q and R, has more roots than Q to absorb more water

Incorrectly answered feedback
P. It makes more food than Q and R, has more roots than Q to absorb more water

Question 32 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

The picture below shows an empty bottle,

bottle cap
content inside bottle
Circle the comect state for the following things.
Bottle cap:
v A) solid
B) liquid
C) gas
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,238
Question 33 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Content inside bottle:

A) solid
B) liquid
v C) gas
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,156,240

Question 34 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Meixuan placed a metal rod and a plastic rod inbo a tank of boiling water as shown
bedow. Equal ameounts of butter were put on both rods of the same height.

E—— butter
metal plastic
rod fod
Whiat would Meixuan observe and why?

Melxian observed thai the butter on the plastic rod melled more
than the butter on the metal rod, as plastc is a

conducior of heat than meatal. 2]
Accepted answers:
v slower,poorer
v’ slower, poorer
v’ slower ,poorer
¥ slower , poorer
v slower poorer
Question Type: Free Text
Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,254
Question 35 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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https://www.classmarker.com/a/tests/test/?test_id=1602060&trk=edittest_inrow_edit

Déane sircked two simiar inon rods X and Y with the same magniet as shown in the
figure balow.
50 sirokes 10 strokes
Fod X - R Y
Baoth rods became temporary magnets and were used 1o atiract simiar paper clips.
{@) Tick (') the correct answer in the table bebow, 1]
Rod X
attracted Rod Y
A) less paper clips than
v B) more paper clips than
C) the same number of paper clips as
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,266
Question 36 Primary 4 Science » Primary 4 Science (Term 4)
Diane's observations show that the paper clips are ____ objects.
A) strong
v' B) magnetic
C) flexible
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,274
Question 37 Primary 4 Science » Primary 4 Science (Term 4)
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Insect P lays eggs on dead animals upon their death,

-

- k.

{a) Complete the life cycle of insect P as shown below.

Adult (insect P)

egg

Accepted answers:

v larva

Question Type: Free Text

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,283

Question 38
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-_.

{a) Complete the life cycle of insect P as shown below.

Adult (insect P}

Accepted answers:

¥ Pupa

Question Type: Free Text

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,287

Question 39
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The table below shows the surrsunding temparatize and the number of days
taken for an ogg of insact P fo Lirn nboe an adult.

Surreunding temperstura Humbser of days taken for an egg of
) B inzaci P to turn st an adult
a0 27
25 3
an 18
a5 12
40 12 |

(b What is the relationship between the surrounding temperature and the numibes
nfﬁu‘rlhk&nfurlntgnufm-&EPtuhmhhlndm 2]

B-l.ﬂﬂundlnl
temperature from
20°C 1o 35°C

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,295

Correctly answered feedback

Surrounding The cooler the lemperature is, the more
temperature from | number of days it takes for insect P to
20o¢ to 35-¢ turn into an adult. )
Surrounding The number of days faken lor the egg to
temperati'rq from | turm into the adult remained the same -
352¢ to 40-c when the surrounding temperature

| increased from 350¢ to 40-c.

Incorrectly answered feedback
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iﬂrr;umﬂlg The cooler the lemperature is, the more
temperature from | number of days it takes for insect P to
2le to 35-¢ turn into an adull.
Surrounding The number of days faken [or the egg to
tem peratn_'rq from | turm into the adult remained the same -
352c to 40 when the surrounding temperature
increased from 350¢ to 400c.
Question 40 Primary 4 Science » Primary 4 Science (Term 4)

Elearna messwed § mi of four different substances and added these substances
i four different test tubes. Each of the tesi-lube conlains a piece of food. The
expariment tock place at reom lemperaturm.

She recorded the time taken for the piece of food o be broken down info simpler
substances. The results of her imvestigation i chown in the able below.

Substance B B G o
Time aken for the
piace of food 1o be
broken down inlo ) 3 & "“’;n"‘m
simpler substances
(minuies)

(8) Which subrstance, A, B, C or D, was most effective in breaking down the picoe
of food info simpler substances? Explain your answer. [1]

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,304

Correctly answered feedback
B. It took the least amount of time for the food to be broken down into simpler substances

Incorrectly answered feedback
B. It took the least amount of time for the food to be broken down into simpler substances

Question 41 Primary 4 Science » Primary 4 Science (Term 4)

Eleana observed that the piece of food was still intact in the set-up with substance D at the end of the
10 minutes. Based on her observation, what can Eleana conclude about the Set-up with substance D
at the end of the 10 minutes?

https://www.classmarker.com/a/tests/test/?test_id=1602060&trk=edittest_inrow_edit
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Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,318

Correctly answered feedback
It took the longest amount of time for the food to be broken down into simpler substances

Incorrectly answered feedback
It took the longest amount of time for the food to be broken down into simpler substances

Question 42 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

State the organ system that is involved in transporting the simpler substances to the other parts of the
body

Accepted answers:
¥ circulatory

¥ circulatory system

Question Type: Free Text

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,156,329

Qu estion 43 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Marie carmied out an experiment using four different stips of matenals, P, Q, R and
&, of the same kength and thickness, She hung weights on the end of each material
She kept increasing the mass of tha weaghts till the sirp of materal stared to breask,

labla
clamp

matarial
string
wesgnt

The table below shows the masa of the welghis each meleral eould hold before it

started to break.
it Total mass of weights bafora i started o broak
kgl
P as
o 85
R 130
B 17.5

Marie conductsd the second axperimen! as shown below, She then measuwed the
madimum distance, d em, aach strp of material could band,

{a) Mare waenled to choose one of the abowa materials F, Q, R or 8 o make 3
m:ad:mdqrwulduﬂ-muﬂml:ﬂm.

[ ..-.r..'-..ﬂ.l'"

-

Baged on the resulls obiained from e two experiments, which matesial, P, @,
R ar S, la most sultable for making the drying rack? Explain your answer clearty.
(21
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Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,343

Correctly answered feedback

a) 5. Itis the strongest material as it could withstand the most
number of weights before it started to break. It is also not fexible,
meaning that it can hold its shape. This makes it the most suitable
material to make the drying rack as the rack will be carrying
items that have weight and the rack needs to have a firm shape.

Incorrectly answered feedback

a) 5. Itis the strongest material as it could withstand the most
number of weights before it started to break. It is also not fexible,
meaning that it can hold its shape. This makes it the most suitable
material to make the dryving rack as the rack will be carrying
items that have weight and the rack needs to have a firm shape.

Question 44 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

State another property of the material that is needed to be considered for making the drying rack

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,352

Correctly answered feedback
It must be waterproof

Incorrectly answered feedback
It must be waterproof

Question 45 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Based on the results obtained from the two experiments, which one of the materials P, Q, R or S is
most suitable for making a fabric bag? Explain your answer.

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,367

Correctly answered feedback
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R. Material R could bend the most easily and could hold 13 KG of weights.

Incorrectly answered feedback
R. Material R could bend the most easily and could hold 13 KG of weights.

Question 46 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Tha diagram shows a set-up with & cylinder and & metal plunger. Aisha filled the
cylinder with 20 co® of water leaving 20 cm?® of air,

— _
B0 e T cylinder
40 ot — metal plunger
air
20
e e waler

Alsha pushed the metal plunger downwards as far as she could withoul any air ar

waler escaping. -
(@) Oraw how fhe sel-up woldd ook like afler she pushed the metal plunger
downwands. [1]

60 cm® ]

20 am® — .

Please type "done" to proceed to the next question

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,383

Correctly answered feedback
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Incorrectly answered feedback

Question 47 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Explain your answer in (A).

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,393

Correctly answered feedback
Air has no definite volume and can be compressed. However, water has a definite volume and
cannot be compressed.

Incorrectly answered feedback
Air has no definite volume and can be compressed. However, water has a definite volume and
cannot be compressed.
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Qu estion 48 Primary 4 Science » Primary 4 Science (Term 4)

Petar waned to investigate the degres of transparency of maberials, A, B and C. He
prapared the sat-up and placed each materal In batwean the light source and 1he

light sensor as shown balow.
. T L Q
light source radeial light sensor

attached to dataloggper

Thi amount of Aght detected by the Bght sensor are shown in the table below,

Matorials Amount of light detected by the light
sonewor {unit)
A 243
B £l
C a |

(@) HﬁﬁnnmﬂmmhmHM.mng:hmiuh.ﬁ,aand&hmﬂamf
their degres of lransparency, starting with the most transparent material,

[

Clue Match
most transparent B
transparent A
opaque C

Question Type: Matching

Grade style: Full points if all answers are correct

Shuffle Mode: Shuffle Matches Only

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,156,412

Question 49 Primary 4 Science » Primary 4 Science (Term 4)
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Petar's mother owns a food stall in the canteen. She placed the cooked Tood In an
enclosed food wammer cabinet as shown below such that the pupils could see and
select the food whan they ondened it.

—

R TR R
part X

od @

{b) Basad on Peter's resulls, which material, A, B or C, is most suitable for making
part X of the food warmer cabinet such that the pupils could see and sebect the
food whan they place their order? Explain your answer, - [1]

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,429

Correctly answered feedback

B. It allows the most light to pass through, reflecting less light into the pupils' eye which enable
them to be able to see the food clearer.

Incorrectly answered feedback

B. It allows the most light to pass through, reflecting less light into the pupils' eye which enable
them to be able to see the food clearer.

Question 50 Primary 4 Science » Primary 4 Science (Term 4)
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{g] Peter conduched an experment io find owt the size of shadows of difierant
objects formed on the screen. Two opaguee objects, P and Q, wene placed al
differant distanca from the lorch &8 seen bebow

s

[— SCIeen

1 0em

Object P Object Q

Draw the shadow of objects, P and Q, that would be formed on the screen
in the box below. (]

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,447

Correctly answered feedback

Incorrectly answered feedback
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Question 51 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Without moving the location of objects P and Q, suggest one way that Peter could cast a bigger
shadow of object P and Q on the screen.

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,462

Correctly answered feedback

Move the torch closer to P and Q

Incorrectly answered feedback
Move the torch closer to P and Q

Question 52 Primary 4 Science » Primary 4 Science (Term 4) 0.5 pts
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8/6/2021
Syheic 308 up tha folowing expariment as shown below. The cups and beakems hive
the sama volum of waler in bath sed-ups.
[ BT T
WOOOE DoMEr
styroloam ==
| 1] =1  contsiner wi# hat
F_n:,m —— - vy o wapbar of BOAG - — ml“
e s T sy JFPSES A i
o i i ., W S
Syivin fook the femporatsas of the water i both cups using & Sarmometar
eyEry mincie inteval for 80 minites aed recordsd teo ls of data. Tha reauls
#rn represented in the ine prophes Dekow,
Tempemis of the waler in the cap ("G}
Lins
f/l.lnﬁ
X Timi {mink
i aﬂhlmmmwmwﬁﬂumnm“l
vty Bt i Hhve graph shove. . (1
Temparaiune of s water in plasic cup Thing
A) P
v ' B) Q

Question Type: True False

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,482

Primary 4 Science » Primary 4 Science (Term 4)

Question 53

Temperature of the water in the metal cup:____

vV A P

B) Q

Question Type: True False

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,490
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Question 54 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Explain the result of the line graph that represented the temperature of the water in the metal cup

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,503

Correctly answered feedback

The metal cup is a better conductor of heat compared to plastic, thus it conducted heat more
quickly from the hot water in the Styrofoam container to the water in the metal cup.

Incorrectly answered feedback

The metal cup is a better conductor of heat compared to plastic, thus it conducted heat more
quickly from the hot water in the Styrofoam container to the water in the metal cup.

Question 55 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Sylvia had forgotten to remove the thermometers in each cup. She observed that the water in the cups
reached the same temperature after 16 hours. Give a reason for her observation.

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,517

Correctly answered feedback
The cup's water was at a room temperature

Incorrectly answered feedback
The cup's water was at a room temperature

Question 56 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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Paul made an electromagned using two batieres, anon rad and a piece of wire &
ron nail

used belfow.

I:I,—"

Ha tested the magnetic sirength of the slectromagnet by placing i near 8 tray of
pins. Ha then recordad his obsarvations in the table befow. .

L
a

(a) Complete the Ebie below, [1]
Number of turns of the
sollie ancimil e o mel 5 18 1&_ 20
Numbar of plee attreeted 1 3 7
by the iren nall m

Accepted answers:
V5

v five

Question Type: Free Text

Date Added: Tue 1st Dec 2020

Last Modified: N/A

QID#: 25,156,523

Question 57 Primary 4 Science » Primary 4 Science (Term 4)

—

-

{b] He then repasted the exparment ualing a copper nall,
Complata the table below by ticking (v) the cormedt boxes acoordingly to ensune
& Talr expariment. [1
Variahles Kept tho same To be changed
Number of batieries used -

e T S VPR ENSEST T

Mumber of h.lr:r;nim colls
Longih of wine
Type of nall used

Please type "done" to proceed to the next question

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,536
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Correctly answered feedback

Mumber of batteries nsed_
Number of turns of the cofls
Length of wire

Type of nail used w"

ALY

Incorrectly answered feedback

Mumber of batteries nsed_ v |
Number of turns of the coils v
Length of wire v
Type of nail used v
Qu estion 58 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Predict the number of pins that the copper nail would be able to attract when Paul made 25 turns of
coils around it. Give a reason for your prediction.

Question Type: Essay

Date Added: Tue 1st Dec 2020
Last Modified: N/A
QID#: 25,156,572

Correctly answered feedback
0. Copper is a non-magnetic material which cannot be magnetised.

Incorrectly answered feedback

0. Copper is a non-magnetic material which cannot be magnetised.
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